200 = 500 =5
=t E ETH
s ~ o I
= - x 400 84000
3 C & [
E R v ¢ I
Aot 300 s
o 100f-----+ %3 -
\% B ] -

[ 200f; e [
50f----- fzooo_ﬁ'
L 100 x N

- e} :
oot o V1000

-50f o100 OF

Ratio
Ratio

0.5 + -
P 4 I I O ILH B

10Sum of trac

2 2
0pT (GeV) Sunl1oof track p_ (Ge\})O

| SO ; For-dh-t i
05f----- l
ot H MM Bl 1 ol

..:.2 HHH ,
égm of track p_ (Ge\}P

—=— DQM_CKF_TTbase

—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWPM_epochl

— — T = 500
----- Py : ++ HE

o
[

o
o
o
TT T T[T T 1T

<0y > (um) for PV
¢

100 oo

[TT T T TTT

................

<Qy> ror()merg%og vertiges (Um),
o
(@)

o
o
o

~150F+++++}

Ratio
=
l

Y I o 2
Sunlﬁoof track p, (Ge\})O

oo 1
P S ; I

il i ,
égm of track p_ (Ge\}')0

200

150

.....

T[T 1T

100

ed ve
ged v
o o
o o
S o
TITT T T
KRR R

=
o
o
=]
[

T T T

50

<0 2z>(um) for PV

o
T[T [TT T T[T T[T [TTT T TITT[rTTT

SR R

F O ol 5
2 3
égm of track p_ (Ge\})0

2
0Sum of '[rac]kopT (GeV)

2
Sunl100f track p_ (Ge\;‘)O

L
2




	Contents
	Page 1


